> A
A & 0l & AFSE E Al A
20198 & =04 LBHSIH MEXGR—ATA
SH ARTRSTA
M NYBYLPE
el MEEFAM 2B CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AT AT A 21,112,404 18,692,848 2,419,556
= 2,357,514
s 3,657,830
= 15,097,060
MHEEBEE 14,903,756 13,200,950 1,702,806
= 2,296,071
s 3,657,830
< 8,949,855
MY EZANE B 1,385,519 866,524 518,995
= 165,694
s 200,000
= 1,019,825
ANg==S@ 2 S22 4 400,000 200,000 200,000
s 200,000
= 200,000
202 4l 2,880 1,440 1,440
s 1,440
< 1,440
01 = LH A HI 2,880 1,440 1,440
O==3 22Mmd 2,880
s 1,440
< 1,440
401 Al HIZ 201 Y| 397,120 198,560 198,560
s 198,560
< 198,560
01 A& HI 397,120 198,560 198,560
O=Sd 2aad 397,120
s 198,560
< 198,560
M=ot 44,119 21,700 22,419
= 22,060
< 22,059
401 AIEHI L 2 CHYI 44,119 21,700 22,419
= 22,060
< 22,059
01 A& HI 43,648 21,466 22,182
O= It RIIAY 43,648
= 21,824
< 21,824
03 Al 2 THHI 471 234 237
O=IHFINIAE 471
= 236
< 235
N 21,304 18,660 2,644
= 12,782
< 8,522




SH ARTRSTA
M NYHABE
el MEEFAM 2B CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 21,304 18,660 2,644
= 12,782
< 8,522
01 A& HI 21,074 16,670 4,404
OXEAY 21,074
= 12,644
< 8,430
03 A& =TI 230 182 48
O AL 230
= 138
= 92
S ®mgE 22 12,826 11,900 926
101 @124l 10,926 10,000 926
04 JIZHHZ2XNHESE S+ 10,926 10,000 926
g d2Y 10,926
-ERgae R 9,352
ST e 1,574
201 24l 950 950 0
01 At 2t 2l 450 450 0
OEREXA =2 S SXI(0LE210%) 450
02 232gHl 500 500 0
O=Jl 8 *F+¢ 500
206 M= Hl 950 950 0
01 =4l 950 950 0
SRl NP0 aE25%) 950
MENMEIAER0 28 XA 60,120 56,544 3,576
= 30,060
< 30,060
101 124 dl 60,120 56,544 3,576
= 30,060
< 30,060
4 JI2ZtHZ22HEE =+ 60,120 56,544 3,576
O#+=S3d32C0UO0lH 20,040
= 10,020
< 10,020
O=Mefatelel 40,080
= 20,040
< 20,040
SEMHEAZR0 29 X2 (402) 7,800 6,300 1,500
101 @144 Hl 7,800 6,300 1,500
04 JIZHHZ2XEE S 7,800 6,300 1,500
Odl=s & =€ 7,800
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el MEEFAM 2B CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
=23 22 167,721 114,109 53,612
101 Q124 H| 124,000 74,578 49,422
04 JI2ZtHIZ22 NEES 124,000 74,578 49,422
~22 pel sy 124,000
201 LBt | 33,800 3,800 30,000
01 AP 22| d| 31,800 1,800 30,000
O%==22 Z& HU|l(0AE210%) 1,800
O2d4+s5a & S2ANds2e =22 30,000
02 2=2=24%4| 2,000 2,000 0
OZ&Hl 83224 2,000
202 044l 1,800 1,800 0
01 2L Y| 1,800 1,800 0
222 XM, ZSIHEZAL =T (0l AHE 2H10%
) 1,800
206 M = dl 7,581 7,581 0
01 X2 H| 7,581 7,581 0
O£==22 el KEX (0l AR 2H5%) 7,581
405 XHA&HF S HI 540 1,350 A 810
01 XA 2 FF S| 540 1,350 A810
Ot Al ol 2 (0 AE2H10%) 540
SAF L 22 100,000 100,000 0
= 70,000
& 30,000
201 LBt | 5,500 5,500 0
= 3,850
& 1,650
01 AP 22| H| 5,500 5,500 0
OMEe & MWsSLE 2HTE X 5,500
= 3,850
o= 1,650
202 044l 5,000 5,000 0
= 3,500
=} 1,500
01 2L I 5,000 5,000 0
OMs| & 85 22| 4,000
= 2,800
& 1,200
OM=de S =X Z2a S X XA 1,000
=2 700
o= 300
206 M = dl 8,980 8,980 0
= 6,286
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ol ARIBIAAL BB (cHel ® Q)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
== 2,694
01 =8l 8,980 8,980 0
OMsdg Hg=I =238 7¢ 8,980
= 6,286
< 2,694
401 AIEHI L 20 80,520 80,520 0
= 56,364
= 24,156
01 A& Bl 80,000 80,000 0
OSXHI = 80,000
= 56,000
< 24,000
03 Al 2 THHI 520 520 0
OZXMH 9 NEE= 520
= 364
< 156
SAMF & 2 (ZHA) 18,000 18,000 0
= 9,000
< 9,000
401 AIEHI L 201 18,000 18,000 0
= 9,000
< 9,000
01 A& HI 18,000 18,000 0
OZXNESE S3MH 18,000
= 9,000
= 9,000
SEMN & RIS H 2el 79,652 73,540 6,112
101 14 Hl 43,702 37,590 6,112
04 JIZHHZ2XREE S 43,702 37,590 6,112
OFR M4 2 RIS s& & 22 AR 43,702
201 L2l 6,500 6,500 0
01 At 2t 2l 4,500 4,500 0
OSHES I X0l & F 2H10%) 4,500
02 =24l 2,000 2,000 0
OFHl &7 7¢ 2,000
206 M= Hl 29,450 29,450 0
01 =8l 29,450 29,450 0
OS2I A (0l & = 205%) 17,100
OR3st a8 L M FL(0l&E25%) 12,350
OHMEtE e 28,772 26,206 2,566
101 @14 dl 24,972 22,406 2,566
04 JIZHHZ2XNHEE S 24,972 22,406 2,566
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MRS T A
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MYBEANS 25

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OOrdsta z2te| el 24,972
206 M= Hl 3,800 3,800 0
01 MHZ 8l 3,800 3,800 0
OO0rst 2Al S(0HlA&HE 25%) 3,800
SSAE IR 41,784 56,670 A 14,886
= 20,892
< 20,892
101 14 bl 40,080 53,464 A 13,384
= 20,040
< 20,040
M4 II2HZ2Z2NSES 40,080 53,464 A 13,384
ORI HJ I AL o124 H| 40,080
= 20,040
< 20,040
201 L2l 1,204 1,206 A2
= 602
< 602
02 =224l 1,204 1,206 A2
OXJEAE IS 28 ¢ 1,204
=2 602
= 602
202 odl 500 500 0
= 250
< 250
01 = LH Yl 500 500 0
OXE ALY 2F Ol 500
= 250
< 250
SSAE IR (LEHI) 900 1,500 A 600
= 900
201 LB-2d| 900 1,500 A 600
= 900
01 At 22l 900 1,500 A 600
O=Jt31I| RHAZALEE n=H| 900
= 900
SSAEINRI(A03) 5,200 5,700 A 500
101 124 dl 5,200 5,700 A 500
4 JI2ZtHZ22XEE+ 5,200 5,700 A 500
Oddzs & =€ 5,200
SEANEE 29 & 2 168,461 155,695 12,766
101 1A Hl 99,811 88,845 10,966
M4 JI12ZHZEXNSES 99,811 88,845 10,966
OMZANEZE 22 2 99,811
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- _ _ RE]
N X8-S (3H) - MEAY - B %Eﬁ HR=2
04 JI2ZtHIZ2 2 NEES 48,824 44,999 3,825
OMETAT AIE@E X Ql2A4H| 48,824
201 et 39,000 39,000 0
01 AP 2t 2] H| 36,000 36,000 0
Oldlsd Alg d24 2 I L2t S(ol
A 2H10%) 36,000
02 23244 3,000 3,000 0
O ZRAE HHISA S 3,000
206 M = Hl 9,500 14,250 AN4,750
01 Ma bl 9,500 14,250 A 4,750
OAt2I A el KEIH (0l AFE 245%) 9,500
207 I & 4,750 4,750 0]
03 A& A 32| 4,750 4,750 0
OME IR bE 2l S (0l AHE 25%) 4,750
405 XH&HF S HI 4,500 0 4,500
01 JHMY = EF S H| 4,500 0 4,500
OAEEZX 2227 72 S0 A= 2H10%) 4,500
M2 ZEAN =2 L SAYH e 16,944 16,081 863
101 Q124 H| 12,194 11,331 863
04 JI2ZtHIZ2 2 NEES 12,194 11,331 863
OXABAT AMEEZX 22 o8 12,194
206 M = dl 4,750 4,750 0
01 X2 Hl 4,750 4,750 0
OXAAT AEEZX 2SI X 2 (0l AHE 245%
) 4,750
=R XE4E Y R FEHAE 28,358 28,358 0
101 Q124 H] 14,758 14,758 0
04 JI2ZtHIZ22NEE S 14,758 14,758 0
OXNY92sHP AlgX 22 oAb 14,758
202 044l 11,700 11,700 0
01 2L Y| 11,700 11,700 0
OXNE2sAHT ZALOH| (0l AFE 2H10%) 11,700
206 i 2t 1,900 1,900 0
01 2l 1,900 1,900 0
OXNYGZsHP AKX 2tel XHA (oAt 1,900
ARRH THEH & JIZJi= g 15,910 13,372 2,538
101 Q121 H| 14,010 11,472 2,538
04 JIZtHI22XNSE S 14,010 11,472 2,538
OAI Z X 2tel ol 2A4H| 14,010
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L= B
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MRS T A
NEBHPE
UANEO P IPEH

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
206 M= Hl 1,900 1,900 0
01 =8l 1,900 1,900 0
O&XH 52 & 22l XA (0l & E 285%) 1,900
L2USHESE 2H 20,980 68,508 NAT,528
2 14,686
< 6,294
101 @124 dl 16,700 58,258 A 41,558
= 11,690
< 5,010
4 D12t ZE2XREES 16,700 58,258 A 41,558
OJIZtH2zXsE E=(HE2LIEHY) 16,700
= 11,690
< 5,010
201 Let24d] 4,280 10,250 25,970
= 2,996
= 1,284
01 At 22l 2,500 8,250 A5,750
OxXt&xt 2,500
= 1,750
= 750
02 =224l 1,780 2,000 A 220
OXNERALI(RE S) 1,780
= 1,246
= 534
AURHESYE SH(4AHS) 2,800 6,300 A 3,500
101 @124l 2,800 6,300 A 3,500
M4 JI12ZHZEXNSES 2,800 6,300 A 3,500
Oa0=s s =¢ 2,800
HEd =02 NH 100,000 100,000 0
= 50,000
< 50,000
101 14 Hl 15,750 15,750 0
= 7,875
< 7,875
04 JIZHHZ2XRHEE S 15,750 15,750 0
OAME XA A3 2124H| S 9,750
= 4,875
= 4,875
OgolE NEEXRE S 6,000
= 3,000
S 3,000
201 £B-2d| 40,750 36,250 4,500
= 20,375
< 20,375




SA MERRATL
MY MUBADE
el QUAIBOT JBEM (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 36,650 32,150 4,500
OXEd XL S 8,250
= 4,125
< 4,125
OUSREIAZY 22ESE S 7,600
= 3,800
< 3,800
Ogxxtz SH=(ot0IMA)EE S 1,800
= 900
= 900
OUSREd 22| 18,000
- 9,000
= 9,000
OUSZEH & HESAMI LI=H S 1,000
= 500
< 500
02 23=24gHl 4,100 4,100 0
Ooxg 249dl s 4,100
= 2,050
< 2,050
202 O4dl 10,000 5,000 5,000
= 5,000
< 5,000
01 = LH 4 1l 10,000 5,000 5,000
OLREaE2E & ZE ol 10,000
= 5,000
= 5,000
206 M= Hl 20,000 25,000 A5,000
= 10,000
< 10,000
01 MHZ 4l 20,000 25,000 A5,000
OUREIARE AT Y S 10,000
= 5,000
< 5,000
OANEE =AMNME 7Y S 10,000
= 5,000
< 5,000
405 TtabF S| 13,500 18,000 A 4,500
= 6,750
< 6,750
01 AL EFSFHSHI 13,500 18,000 A 4,500
OAMEIXM 2 S 13,500
= 6,750
< 6,750
MEMSOSLER(MYELMESDLEHZAY) 41,538 0 41,538
= 41,538
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SH MERRATA
M NYHABE
S FHAEAT JIBEH (&)
= (o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= T,600
02 =224l 1,500 0 1,500
OdgdaisedMy g |F|Hl 1,500
=2 750
= 750
At THO 2 Rtel EHII(AEH S0 E M) Zak(a 11,200 0 11,200
=)
101 @14 Hl 11,200 0 11,200
04 JIZHHZ22XRHEE S 11,200 0 11,200
Otz Hall g M &0z & =4 11,200
LUSE 4 84,250 78,798 5,452
101 @124 dl 65,000 59,998 5,002
4 D12t Z2XESES 65,000 59,998 5,002
OUEE B4 22l 9= 65,000
201 et 5,600 5,600 0
01 At 2teltl 3,600 3,600 0
O24) dXtZz S (0l AHE210%) 3,600
02 =224l 2,000 2,000 0
OM2MELD "2 S 2,000
202 44l 2,250 1,800 450
01 SLHOIYI 2,250 1,800 450
O3As ST A S(0IAE210%) 2,250
206 M= Hl 11,400 11,400 0
01 M= 4l 11,400 11,400 0
OSHEE XM & KRINEHEZ S0 AE25%) 11,400
D2 IS8 &8 MUEE S4AE 18,650 17,007 1,643
101 @124 Hl 12,000 10,499 1,501
04 JIZHHZ2XRHEES 12,000 10,499 1,501
O NEZHY 2 ol e 2,000
206 = Hl 3,800 3,800 0
01 M2 4l 3,800 3,800 0
O3ANS &2l I F2 S (0l AHE 25%) 3,800
207 O &l 2,850 2,708 142
03 Al & 1 HI 2,850 2,708 142
OANMESHIA NI S (0l &HE 25%) 2,850
ELR AE22 A 10,900 9,038 1,862
101 @124 dl 5,000 5,903 A 903
04 JI12ZtHNZ2 2 EE 5,000 5,903 A 903
O4E HidoteAa 2l AR 5,000




SH ARTRSTA

M NYHABE

CHelr AAIEOD JIBEY o HE)
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 4,000 0 4,000
02 =224 H| 4,000 0 4,000

QLI UYPAE B2 S 4,000
207 I | 1,900 1,425 475
03 A& A 32| 1,900 1,425 475
OAME 2 22 S (0 AE25%) 1,900

AQLE 2 THHH Al AFE X =4 &L ARI|IBE 2 23,700 32,950 A9,250
206 M = dl 5,700 10,450 A4 750
01 X2 8| 5,700 10,450 N4 ,750

O +8g U 4 W2 S (0 &= 25%) 5,700
405 XHAHFE S HI 18,000 22,500 A4 ,500
01 XAt 2 ZF S H| 18,000 22,500 A 4,500
OAGLE AMAEY FHE (0 AE210%) 18,000
SAHANE= 22 2,824,609 1,712,791 1,111,818
= 59,180
g 712,373
& 2,053,056
QI AlA 17,676 17,679 A3
Fag 12,373
& 5,303
101 2121 ] 4,160 4,160 0
Fag 2,912
& 1,248
04 JI2ZtHIZ22NEE S 4,160 4,160 0
-z 4,160
= 2,912
= 1,248
401 Al HI L 204 HI 13,516 13,519 A3
= 9,461
=} 4,055
01 Al&H| 13,516 13,519 A3
oYe=g 2 13,516
g 9,461
& 4,055
AFEEALS 37,400 0 37,400
= 26,180
o=t 11,220
401 AlEHIZL £ 0HY| 37,400 0 37,400
= 26,180
& 11,220
01 Al&H| 37,400 0 37,400
O A& AFSH 35,000
= 24,500
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= _ — d =
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OMEAZSEZ (2A2EH) 2,400
= 1,680
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ANEE 22l 706,774 788,125 A 81,351
101 @124 dl 3,000 ,000 0
04 JI2ZtHZ22HEE =+ 3,000 ,000 0
OA&EE RX2el 2 3,000
201 Let249] 197,100 , 100 0
01 At 22/l 4,500 ,500 0
OANsgg2el SANEE 72 S(MAZE210%) 4,500
02 23224l 192,600 ,600 0
Ogadl & AI&&dl |Xdl 192,600
206 M= Hl 8,574 ,025 A 451
01 MZ 4l 8,574 ,025 A 451
OAlE 2l K (0l & & 2+5%) 8,574
401 Al HIZ 201 I 490,000 ,000 A 80,000
01 A& Bl 490,000 ,000 A 80,000
OSZEHIAE HEAY 490,000
405 TtatF S 8,100 ,000 A 900
01 AL EFSFHSHI 8,100 ,000 A 900
ONFBM=T ZX S22 (0] AHE210%) 8,100
=S 2 HES2 =4 400,000 0 400,000
s 200,000
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202 4l 4,000 0 4,000
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= 2,000
01 = LHH HI 4,000 0 4,000
Otz et S22 2 ALY 4,000
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401 Al HIZ 201 I 396,000 0 396,000
s 198,000
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01 A& HI 396,000 0 396,000
Ottt S22 20A1E 396,000
s 198,000
< 198,000
AgeiEa 22l 64,000 85,361 221,361
101 @124l 35,000 29,361 5,639
04 J12ZtHZ22EE =+ 35,000 29,361 5,639
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201 Let24d]| 6,480 7,200 AT20
01 At 2teltl 4,860 5,400 A 540
OXeists SR HE L 7 S(HA4=RZ
10%) 4,860
03 &AL Z I 1,620 1,800 A 180
O LIST2 ) HMAS D XS] (0l A 2010%
) 1,620
206 = Hl 4,513 4,750 A 237
01 M2 4l 4,513 4,750 A 237
OXHstslsE ME Y (0l A 25%) 4,513
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=2 688,041
s 65,298
< 1,292,076
AUSHEESYE SH(EH)2 & 16,905 102,500 85,595
= 12,271
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401 AIEHI L 2 CHEI 16,905 62,000 A 45,095
= 12,271
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01 A& Bl 16,905 62,000 A 45,095
OALRF IDM=2 HA 9,923
= 6,946
< 2,977
OAURHEEE X & X 6,982
= 5,325
< 1,657
A2URHEEYE LR AHER) 515,480 515,480 0
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01 A& HI 484,946 503,940 A 18,994
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202 Od4dl 3,000 1,500 1,500
s 1,500
< 1,500
01 = LH 4 Hl 3,000 1,500 1,500
OXIAtHI At = 2+ & 3,000
s 1,500
< 1,500
401 AIEHI L 2 CHYI 397,000 198,500 198,500
as 198,500
< 198,500
01 A& HI 394,000 197,000 197,000
OX XM At = 2 & 394,000
s 197,000
S 197,000
03 AlE 2 THHI 3,000 1,500 1,500
OXI XA Rt = 2+ & 3,000
s 1,500
< 1,500
oAse 22 (Ef) 376,247 447,234 AT70,987
101 144 dl 105,130 183,684 AT8,554
4 JI2ZtHZ2Z2XEE+ 105,130 183,684 AT8,554
Ot s g 22 105,130
201 2et24d] 162,717 182,000 A 19,283
01 AL 22l 77.717 102,000 24,283
OXrAs e el (ol ahE 2H10%) 77,717
02 =224l 85,000 80,000 5,000
Ot sg 22 85,000
202 O4dl 2,700 1,800 900
01 S LHOIYI 2,700 1,800 900
OXrA s e el (ol ahE 2010%) 2,700
206 M= Hl 5,700 4,750 950
01 M= 4l 5,700 4,750 950
OXA Sl 22| (0l AFE 25%) 5,700
401 Al HI L 2 THHI 100,000 75,000 25,000
01 A& HI 100,000 75,000 25,000
Ot s g 22 100,000
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CEE B (BH) - HBRAY - BAS %Eﬁ HR=2
2 et e| D] BEEx 900,226 1,339,206 A 438,980
Fag 630, 159
& 270,067
Ol Al A 900,226 1,339,206 A 438,980
= 630,159
= 270,067
101 124 4| 14,560 22,120 ANT,560
= 10,192
= 4,368
04 JI2ZtHIZ22NEES 14,560 22,120 ANT,560
ogzzed 14,560
i 10,192
& 4,368
401 AlEHIZL 2 0HY| 885,666 1,317,086 AN431,420
oy 619,967
= 265,699
01 Al&EH| 860,000 1,279,107 A419,107
O AA 424,000
g 296,800
o= 127,200
OFgAT 261,364
g 182,955
= 78,409
OFRXM &k 132,033
= 92,423
& 39,610
oY= 22,525
Fag 15,768
& 6,757
OAFE A& A 20,078
g 14,055
& 6,023
02 2teld| 16,838 24,916 N8,078
OYTAIA 8,734
g 6,114
= 2,620
O&HA T 5,384
= 3,769
= 1,615
OFENHE 2,720
g 1,904
& 816
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< 847
ORI 1,426
s 998
= 428
TR Me2eES 1,505,112 1,767,020 A 261,908
2 745,004
< 760,108
AEXIAREE AlE 81,000 162,000 A 81,000
2 56,700
< 24,300
401 A& HIZ 201 8] 81,000 162,000 A 81,000
= 56,700
= 24,300
01 A& HI 78,534 157,067 AT78,533
O LEXI A 78,534
= 54,973
< 23,561
02 Zteltl 1,618 3,236 A 1,618
OFIPAPNE- 1,618
= 1,133
< 485
03 Al& =TI 848 1,697 A 849
ORI AR 848
2 594
< 254
HESH AL 193,757 193,757 0
2 135,630
< 58,127
401 AIEHI L 2 CHEI 193,757 193,757 0
= 135,630
< 58,127
01 A& tl 187,858 187,858 0
OAREA 187,858
= 131,501
< 56,357
02 2feldl 3,870 3,870 0
OAREH 3,870
= 2,709
< 1,161
03 A& 2 THHI 2,029 2,029 0
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= 1,420
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= 175,000




SH ARTRSTA
M NYBYLPE
Eel SR8 Ma2elE2S (chel & 9l)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
= 75,000
401 AlEHIZL £ 0HY| 250,000 250,000 0
= 175,000
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